EARAROBEEIERT — 2 N— IBISH —F

2012%6H 130 (k) 6EIEM5H

m#3%4ﬁi B 1 [xwl 8 [1memml - | v ) oo mE
[A&4£] 1 7 :600,000 3 ~ 23#&:120,000  ~ 33#&:60,000H ~ 43#&:36,0008” . 53&:24,000 ™
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
24 22T YT o4 ?f;ﬁ 1:52.8 8-8-3-1 |38.7| — 1 487 ;mg% ()
: (=) !
QIO—YXA AL BTU—TSTE— G ey gLy ko -
J—H 2L 4| 5 1:53.5 2-2-1-2 [40.0| — | 6 | 453 %UJUD%?_H (EE)
o 4 17
LY ANRGY R B/ —HFrHr 54X @ © ENS
= s TRE 1:53.7 9-9-9-8 [38.6| — 9 474 | FUBIERS (FEfH)
198—77vy>a #6 | B= A
. 1 ARES
QLxFL BiAYE—S Ao W )| T esis
" S ALHEE 1:54.0 3-3-4-5 |40.1| — 5 474 | BHRS (ER)
Bty SR o4 56.0 20
g (a1/2) Loy | EERIR
L:ZLYIT RV B ARV vILEE— -9 iR F—
O—S>E952% o7 Méi%&’% 1:54.1 6-7-6-6 | 39.9| — 2 | 467 E;‘;ﬁﬁ (Gil)
. (7€) _ A
LYy h)—RE—F B:O-5>3/7-X (SUDR =t /—i
= A 1:54.2 1-1-1-3 [ 40.8| — 4 500 | EllEE (Em)
JILEZAIO— 6 o ;
o 3/4 Gizpe s
Q:iF 4= HY RY— B TO-SANS R @ RELAR ey tvesren
. 4 5 | WAME 1:54.7 7-6-7-7 | 40.6 | — 7 501 | /AVIIEH (FER)
7155 P> b7y b 56.0 3 oy | EREEEREL
Qs THLRYF— AT @ 2| pergss
= : 4 5 | FHE— 1:54. 5-5-5-4 |40.9| — 3 500 | =EEZ (T
8l7|7|FE=7L~v R 56.0 (7€) BRI
R RYT T A —Tp—K— K B AYT KT R isa TP N
Pl = B o6 | HEEEK 1:58.3 4-4-8-9 |44.0| — 8 506 | ABRE= (ER)
1 <! it
o1 |77 A=) 5.0 (514) o) |EREE
T R4 YRR vl =~ RS
® I—F—@EBIERL
13—4— 2,8,9,1,7,3,5,6,4
Ao=5"= 2,8,9,1,7,5,3,6,4
33—F— (2,8),6,9,7,3,5,1,4
43—+ — 6,8,2,7,9,3,5,4,1
[ N5
B R 6 1708 | | 71 K 6-8 840 | | # = 6-8 450/ | | 3EfE 4-6-8 33,170M
BB 6 1504 4-6 2,690/ B E 6-8 1,610M EE 6-8-4 124,930
8 330M 4-8 3,990 B H 6-8 2,810
4 1,270M

ABICOVWTRDTEEERROODE. TR LIV,



